
versione 0
Equazioni differenziali - 0
SimplifyADSolveA9

4 y''@xD + y'@xD � 3 x2 + 8 x,
y@0D � 100, y'@0D � 44

=, y@xD, xEE

99y@xD ® 20 + 80 ã
-x�4

+ 64 x - 8 x2 + x3==

Funzioni di due variabili, punti critici - 0
f@x_, y_D := x2 + y2 - 2 y;

aa = RegionPlotB:
1

2
x2 < y < x + 4>, 8x, -2.5, 4.5<, 8y, -0.5, 8.5<, MaxRecursion ® 10F;

ab = ContourPlot@8f@x, yD � f@4, 8D<, 8x, -12, 12<, 8y, -12, 12<D;
ac = Graphics@Point@80, 1<DD;
Show@aa, ab, ac, AspectRatio ® Automatic, Axes ® 8True, True<,
PlotRange ® 88-5.5, 8.5<, 8-0.5, 10.5<<,
Ticks ® 88<, 8-2, 2<<D

Print@8f@0, 1D, f@8, 4D<D

-4 -2 0 2 4 6 8

0

2

4

6

8

10

8-1, 72<

Integrale doppio - 0



f@x_, y_D := x * ãy2;

aa = RegionPlotA92 y > x2 && 2 > x > 0 && 0 < y < 2=, 8x, -0.5, 2.5<, 8y, -0.5, 2.5<, MaxRecursion ® 10E;
Show@aa, AspectRatio ® Automatic, Axes ® True,
Ticks ® 88-2, 1, 2<, 8-2, 2<<D
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Numeri complessi - 0

In[1]:= :AbsBJ-ä - 3 NF, ArgBJ-ä - 3 NF>

Out[1]= :2, -
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6
>

In[2]:= :AbsBJ-ä - 3 N
9
F, ArgBJ-ä - 3 N

9
F>

Out[2]= :512,
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>

In[3]:= SolveBz3 == J-ä - 3 N
9
, zF

Out[3]= 98z ® -8 ä<, 9z ® 8 H-1L1�6=, 9z ® 8 H-1L5�6==

In[7]:= PrintBTableB
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In[29]:= A =
1

4
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;

Print@Eigenvalues@ADD; Print@Orthogonalize@Eigenvectors@ADDD
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versione 1
Equazioni differenziali - 1
SimplifyADSolveA9

4 y''@xD - y'@xD � 3 x2 - 8 x,
y@0D � 100, y'@0D � -44

=, y@xD, xEE

99y@xD ® 20 + 80 ã
x�4

- 64 x - 8 x2 - x3==

Funzioni di due variabili, punti critici - 1
f@x_, y_D := x2 + y2 + 2 y;

aa = RegionPlotB:
1

2
x2 < y < -x + 4>, 8x, -4.5, 4.5<, 8y, -2.5, 8.5<, MaxRecursion ® 10F;

ab = ContourPlot@8f@x, yD � f@-4, 8D<, 8x, -12, 12<, 8y, -12, 12<D;
ab2 = ContourPlot@8f@x, yD � f@0, 0D<, 8x, -12, 12<, 8y, -12, 12<D;
ac = Graphics@Point@80, -1<DD;
Show@aa, ab, ab2, ac, AspectRatio ® Automatic, Axes ® 8True, True<,
PlotRange ® 88-8.5, 8.5<, 8-2.5, 9.5<<,
Ticks ® 881, -2<, 8-2, 2<<D

Print@8f@0, 0D, f@-4, 8D<D
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f@x_, y_D := x * ã2 y2;

aa = RegionPlotA94 y > x2 && 2 > x > 0 && 0 < y < 1=, 8x, -0.5, 2.5<, 8y, -0.5, 1.5<, MaxRecursion ® 10E;
Show@aa, AspectRatio ® Automatic, Axes ® True,
Ticks ® 88-2, 1, 2<, 8-2, 2<<D
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Out[22]= :2, -
Π

6
>

In[23]:= :AbsBJ-ä + 3 N
8
F, ArgBJ-ä + 3 N

8
F>

Out[23]= :256,
2 Π

3
>

In[24]:= SolveBz4 == J-ä + 3 N
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In[33]:= A =
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Print@Eigenvalues@ADD; Print@Orthogonalize@Eigenvectors@ADDD
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